(BIER"

(EAFEr > 2k %F) 1056 #11° > 5 PR T4 (B Rk P2 23 /5 JRIEY )

PRAZIE R /oszpw | 1 [ 2 3| 4| 7| 8] 9 (101114151617 (1821|2223 |24 |25 28|29 30 &3+
L7#@E Rk 20125112125 [ 1927231314124 124 1912|1826 | 15|12 |14 15| 17|19 16 409
2. L% 4 29139142138 (4948 (495459389546 (5444|3551 |50 |36(41|31|54]56 1018
3. f2% - &K 20125 (12125 (1912723131424 (2419121826 15| 12|14 15| 17|19 |16 409
4. 485 F Rt ik I1{fojojojojojpofofofojojoypojlof1r{fofojojojpop1y0 3
b.EBExHEP ojo(ofofofojojojojofofofojoj1ryo0po0fofojoy]ry|o 2
g o |0 2122142341 (8|1 (2323|1020 1]|4]2 49
TRE 22 o1210(0f0(0]3]010)4(0(2[0]]0]0]0]10[0fO0]12]0]0 23
.t tzgr | 0100 Of[OfO]O]O]JO]JO[OfO[O[2]0]0)2[0[0]1]O0]0 )
9. TRi% 439 20120112125 [ 1927 (23|13 |16 | 37|41 |35 (17|18 |29 | 15|24 |25 (19|29 37| 30 536
10. 3% f#frjz ojo0(ofofryojojojpojofofofojojojoyrofofo|[r|oq]o 2
11. 3132 Fr 12182 (2 (14122847 (2006 (8|5 |5 |10[19(12|16] 4| 4 |21]|10 219
1231328z 1714 5 | 1320651929 (14|14 |21 |31 | 5 |38 | 15|81 |65]|66]|24| 6 |63 |25 655
13. 31 318 7 4L 20011149 (172717116 2212814 95 |10|31 15|18 (18| 6 [29]|14 341
14, Ryt 2 33119 6 |11 [ 29352718 8 | 30|41 |20 (14| 5 [ 13|44 |27 |37|22| 6 47|28 525
15, 4 35 B K oj1o0(2((1(6(0]3]12 1814101310 (0(0[1]2]2]2 39
6.2 7224 % 0 (0] 0] O0O]O0]JO0OLOLOfO[O]O]O]JO]JO[OfO[O]O0O]O0O]O0]0]0O0 0
17.8%"Y #RE 4 % ojo(ofofofojojojojofofofojojojoyrofofojoy]oj]o 0
18 t7dedpgizzpiaxl 0 (O] O] O] O0O)JOLOLOfO[O]O]2]0]0[0f0[0]0]O0]0]0]0 2
PD.zfepamrdy# 00|00 D510[0f0]O0]3]0]210(0[4]0]0]0]0[2/(01]0 16
Ep/0kas e 2 & 172|170 99 [151(207[280198|161|140(237({242(204|131]|156|176|272(219({248(159|135]|297|199 4253




